1. REEERITIN (FH6F4H D)

xtbAE | XtRs xS AEH &8 (M)
4H3H ZE  |WHEREODBERZBEDI(EE) 5,500
4H4H BRL |RMBE RREFE - SHIROH (FH) 5,000
4548 B |RMBE X8FHE SO (FH) 5,000
4H16H PR |TTRSEBIRERE SHIRDIT (FH) 10,000
48178 B |RMBE X8FHE SO (FH) 5,000
4H18H =8  |HFRKEREZRAEXTHREIERRREOH(ZE) 5,000
4H819H BR |REWmE 2RS0T () 33,000
4H20H =8 | PH6FEMBERAR—VHBERAEDIN(EE) 5,000
4822H =8  |TRAEORYNI-IRRADIN(EE) 12,000
4H824H =8 | EREREHRFAEZEERZIBRIOM(ZE) 5,000
4826H =8  |WEMBRAEASRES BEIOF(ZE) 5,500
4H28H =8 |MREBTFI=ZDMZE) 10,000
a &t 106,000




2. % FH(PH6FK)

bRy | H(ERY) | REHER | 2EERD) | RE#

= = 7 7 48,000 48,000
- B 0 0 0 0
B & 5 5 58,000 58,000
8 & W 0 0 0 0
B & 0 0 0 0
O 0 0 0 0
T D 0 0 0 0
a 5 12 12 106,000 106,000




